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(&) Figure 3 shows a loaded cross-section of & column, Determing the stresses in face

AR and CI, (6 marks)
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B} (i) A rectangular beam of section 200 mm x 500 mm is reinforced with 5 No. Y 20
bars, concrete cover being 25 mm, and effective span 8 m. Determine the
allowable distributed load it can carry over the entire span, given:

Lever arm = 095 d.
fy = 460 N/mm’,

(i) A short braced column 300 mm x 300 mm and 7 m long is fixed ot both ends

and carries an axisl load of 1500 kN. Design and detail the column given the
following mformation:

Datn:

o = 30 N/mm*

fy = 460 N/mm® (for longitudinal bars)

1 = 250 NYmm’ (for transverse bars). (14 marks)
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